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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

1. Answer any ten questions: 2x10=20

-1 v 2rels T mie ¢

1)  Write names of two developing countries.
wis SRR (MCAF I (74 |

i1)  Write names of two developed countries.
s THS (MCo 1N (1Y |

111) Give two examples of third world countries.
HEASSEINCERGGERIRN Gl

1v) Define per capita income of a country.

G3fB e oy S e wie |

[Turn Over]

v) What is PPP?
PPP &
vi) Define mixed economy.
e wrgeifes ket s |
vii) Give two examples of capitalist country.

wis Affereifes @z Suizgel wie |

viii) Give two examples of socialist country.

i ITIierelfe @ Swizde 71 |
ix) Give an example of primary sector occupation.
AT CFCaT 9F(B (17 Trige Wi |
x) Define pseudo-unemployment.
- (IR0 A 1S |
xi) Give one example of tenancy reform.
eery A G Tuizgel s |

xi1) Give one example of small scale industry and one

example of large scale industry.
a3fb 5 i € gis J2- Fite Tuigge wis |
xiii) Give two examples of cottage industry.

ufb o1 Witara Srizad wis |

xiv) Write name of one organization which provides

rural credit.
SIS QeI O AZE AT =12 |
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xv) Write full form of IMF.

IMF 931 #J(IIN (574 |
2. Answer any four questions: 5%x4=20

@ (I IR ACsE T wie ¢

1)  What do you mean by ‘development’?
ST 9oiCs o 5 a2

11) Define ‘human capital’ and state its importance.
AR FoAee 97 K 7S GR G PG I 9 |

111) Write a short note on population growth in India.
RS GePRey I AR <30 (=26 Bl @1¥ |

iv) Discuss main aspects of land reforms in India.
IECS BN A ol fazrefer oierba 54|

v) State the reasons behind industrial sickness in

India.
ORI 5 AR s*biten IRl [Rye 34|

vi) Discuss the concept of ‘globalization’ and its

effect in India.

T QRN G CIACE 9F el @ SEThl
3|
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3. Answer any two questions: 10x2=20

@ (I 72 e Teq e ¢

i)  State the problem of poverty in India and the

measures adopted to eradicate it.

wlHee wittcad el g3z «fb @A j2re R
ol 9 |

ii) State the problem of rural indebtedness in India

and the measures adopted to combat it.

TR AR Aeraree = T @3k @fb TR ey 52T
ZPTZ 31 39 |

iii) Discuss the importance of public sector units in

India.
SIS ATFA CF(ad AT wwg SIEn 59 |

iv) Explain the needs of foreign capital in the

development of India, and its demerits.

SIS SR RO TR ARG QR 4 o
fresfer i 1|
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